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QUESTION 1

What does SyncE mainly provides? 

A. SyncE provides for time of day synchronization 

B. SyncE provides for accurate frequency synchronization 

C. SyncE provides for phase synchronization 

D. SyncE provides for time of day 

Correct Answer: B 

 

QUESTION 2

Which three options can be considered a type of small cell (Choose three.) 

A. Microcell 

B. Femtocell 

C. Micro 

D. Pico 

E. Picocell 

F. Dendriticcell 

Correct Answer: ABE 

 

QUESTION 3

High availability at the transport network layer is provided through the combination of what three technologies? (Choose
three.) 

A. Alternate Route 

B. Loop-Free Alternate Fast Reroute 

C. BGP 

D. HSRP 

E. BFD 

F. BGP Core and Edge Fast Reroute and Edge protection 

Correct Answer: ABF 
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QUESTION 4

What does the neighbor send label command enable when issued on BGP routers? 

A. Enables the routers to add IPv6 labels to outgoing BGP updates 

B. Enables an EBGP multihop peer to propagate the next hop unchanged 

C. Enables the routers to add MPLS labels to outgoing BGP updates 

D. Allows peering between loopbacks 

Correct Answer: C 

 

QUESTION 5

If you partitioned the aggregation and RAN network layers into independent and insolated IGP domains, what will it do? 

A. Cross domain communication will be impossible 

B. The Core IGP will not scale 

C. it will increase the routing complexity and routing table 

D. it will reduce the size of the routing and forwarding tables in the RAN layer 

Correct Answer: D 
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